D 2a*b=2xaxaxb

@ 3(x+y)z=3x(x+y)Xz
3 3(a+0)

C

=3+ (at+b)xc
@ i:4><x+(y—z)

y—z
3 —2ab

7

=-2Xaxb=+"7




M xoC = B4 §x+ 32°F o]t} 514 104°F = ¥ L& 2 olu}

Q712

@D 30°C ® 40°C 3 50°C @ 60°C B 70°C



3. t& F Aol ofd A2?
@® 4x+2x=3x+5x @ 5x-3=x(x—4)
® 14+2+3=2x(T-4) @ 3(x-3)=2(x-2)

® 3x+4-2(x-1)+x



4.

a2 S0 s e 27

oW % x o] 4 el 3 & HT AL 5 oA oW 1 2 W 5

3w et £t

® 4x+3=5(x-3) @ 4x+3=3(x+3)
@ 4x+3=3(5+2x) @ 4x+3=3(5-2x)

® 4x-3=3(x+3)




@ 1 3 2

3 0



® 7}gict.

A 5x —4 = 3x+29]



olJ

-2, y=4 2 ™, —x* - xy 9

Q -4 3 0 @ 4 B 12

D -12



8. OsF3A L2 A2
@® 2(x+1)=2x+2 @ 3(x-4)=3x-12
® 3(x-1)=3x-3 @ (x+4)x2=x+8

® B3x-6)+3=x-2



©® 2-a-4+5a=4a-2

@ (-3) x (-2x) = 6x

® (Bx+6)+3=x+2

@ —(a-4)+5(@-2)=4a-6

1 1 1
“(4x — _ —4x - =
® 2( x 6)+3(6x+9) x-g



10.

w

2x—§—* ANA x o ALE g,y o] ALE b, A5FES ¢ g

abc ©] Bf2?

[\)

D -3 ® -1 3 0 @ 1 G 3

ok



)
——

@ x-6=10

D 1-2x=x+2

® 2(1-x)

@ 3x-2=3(x-1)+1

1-2x

B x+4x=6x-5



12, o3 HAAE olgdote] ax = b9 EZ IS W, ab 2] 327 (
a®t b= A 24 AASF)
-5=2-6x
@D 12 @ 20 ® 30 @ 56 ® 70



@ 2 B 3

1






vl

Os 3w A

flo
ftlo

B 1297

@ -5x% +3x-2 9] 3+& 542, 3x, 2 o]t}

@ 3x-2y-5 oA 2 -5 oJt}.

® 2x2 — 3x + 4 — 2x2 -2 AzpA o]t}

@ xx <—%y> 449 e 3 Aol

® 2x—-4y-3 oA x 2y o A59 F& 8§ oltt.



